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Soft drink can be purchased from supermarkets in a variety of sizes.
Below are the costs for four different sizes of a certain brand of soft drink.

600 mL ‘buddies 1.25 L bottles 2L bottles 10 x 375 mL cans
$2.70 each $1.60 each $2.20 each $6.00 per pack

a  Find the economy rate (in $/L) for each size of soft drink.

b Find and compare the cost of 30 litres of soft drink purchased entirely in each of the four different
sizes.

¢ If you only have $60 to spend on soft drink for a party, what is the difference between the greatest
amount and the least amount of soft drink you could buy? Assume you have less than $1.60 left.




